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3.4.22

BERTER

B[] BR 2 TR
VAT V3 2 2! VAT V5 X . N
P BN eSS
i1 Fll JRKE S04EJE
B 110 m3
JEH T 18 R WE 1
- 110 m3
T E R L=4kmPL T
410 | m2
HvsEL TAT 7V R t=5cm
- 21 m3
TR ALER T
.
; 4 FAEYLAEA 1,470 | m2
P e
AGE T L S8 RC-40 t=10cm
i 360 | m2
R ZKME
T E 7 3900%300%60mm
, KM 1, 150 m2
100*100%60mm
BNV =S NI/ 149 m
Evp =1 N N
HETH YT 300%300%60
) SN 2 l.m
300%300%60
54 | m2
[li i
" FAEYLAEA 138 | m2
i
FAL B L RC-40 t=25cm
77— L 138 | m2
#e L t=5cm
Hi S8 5 Cfili 44 | m2
Jay 150%150
:@;‘%‘7“1:1 - 7 7‘%%“’”{7\1:1 ‘)7 51 m
Wi/ H Y 300%300%60




S S HERIER

VAT 2 VAT V3 22! VAT V5 X W -
AL i
TFE eI Fmo JRHE S0
9 m3
BEAKE T [HEk T R
5 m3
HREL
5 m3
bR L=4kmPL T
; /R A SRR e 12/ 'm
AT T Sl b US9-B-B300-H400
{13 254 USOTRIZE3002%5 11| #
(Confil) L=0. 5m
R 25K USORIHES002E 1| &
(£ 5) L=0. 5m
1| 5T
KM T SM-B500-H500
37 m
LAUHTE T
; . 45 | m3
BEEAE | B
ﬁﬂ.lnx
20 | m3
FEpEND iy
. . 25 m3
HWRL A
§ R 162 m
r—7NAVERET. [ —7 LB FEP @ 50mm
B » 162 m
HgEs — b W150 2f%
§ ~ R ~ 174 m
F—T VBT | r—T A CVV5. 5sq-6C
NURER—IL Ny RR—L 600600%900 3| & | WEAW
REL RE W=640kg
LT A A VSRR | ©500mm 3| A | HIMER
ASBE BT t=6mm L=1. 5m
227 ) — Rk - " L X% il 1
SR E T H=10m ConZLfifs
o F— =R/ |i=sn STRZEES 2 > 3 A& | IR
HABST R 1 L T ST 4T T ARER
) H=10m STKIARAILER A > % 1 % il P
VT4 T T URER




3.4.22

BERTER

2NN 2NN/ ZNN/Z! 2NN o N -
\
THE i1 Ell JRKE
3 Jk HERS
HEHAAT 25 E. (8m)  [LW3203L
1 P HIERS
WEBAJT25E. (10m) [LW3703LC
50 | A
Pl |xen SEFER B




HEEGHE (H)

ER+T BEEFHR

22 22! 2N 25} X 4 W -
\
F T Bt ik gt | | ™
" IEERYEH] 112.9 110 m3
1T
P A1 -
1=9. 5kmL 112.9 110 3
RS mEl T m
S -
R Y BEKIE M IZE = 7.0 10 m3
L WL n 2.9 3 m3
e 1=9. 5kmLL 4.1 4 m3
A vk .
o TATZ 7} 413.9 410 m2
TER AL 20.7 21 m3




il

&

=
22! VA" V5
T il Fi B =1 = ¥ =

PR H 112.9 112.9 m3

Y5 UL L=9. 5kmLL T 112.9 112.9 m3

RIE Y HekkgEm o3 |7 7.0 m3
TE AR T

HEL Pektgsmcs £ (2.9 2.9 m3
T AR

Y5 UL L=9. 5kmLL T 7.0-2.9 4.1 m3

myEEL T AT 7 )k 413.9 m2
t=5cm

TR 20.7 m3




BgEL ¥ B ¥ B &
2N Z! 225
T Fi il 21l 1 = ¥ =
TATZ 7k t=5cm 413.9 413.9 m2
JERALER 413. 9%0. 05 20.7 m3
- j -

TR EBRSLEMET L=12]h A=413.9n2 t=bcm

0193 %

66, 500n

T




JEHI T /2 + B 3 H #F
HI (F5) PHEICH)
B IE R Wriifs W AR w Wrimfs | CEEWrmEE 0 b i
m2 m2 m3 m2 m2 m3
NO. 0
0.000
NO. 0+3.500 3.500 0.7 0.35 1.2
0.000
NO. 0+11.840 0.7 0.70 5.8
8.340
NO. 1 0.5 0.60 4.9
8.160
NO .2 0.5 0.50 10.0
20.000
NO. 3 0.5 0.50 10.0
20.000
NO. 4 0.0 0.00 0.0
20.000
NO. 4+1.200 0.0 0.00 0.0
1.200
NO. 5 0.5 0.25 4.7
18.800
NO. 6 0.7 0.60 12.0
20.000
NO. 7 0.7 0.70 14.0
20.000
NO. 8 0.6 0.65 13.0
20.000
NO. 8+14.300 0.6 0.60 8.6
14.300
NO. 8+16.200 0.0 0.00 0.0
1.900
NO. 9 0.0 0.00 0.0
3.800
NO.10 0.0 0.00 0.0
20.000
NO.11 0.0 0.00 0.0
20.000
NO.12 0.0 0.00 0.0
20.000
At 84.2




JEHI T 2/2  THEHEE
. N HI (F5) PHEICH) .
i = S I
m2 m2 m3 m2 m2 m3

NO.45+10.000 0.7
0.000

NO.46 0.7 0.70 7.0
10.000

NO.47 0.7 0.70 14.0
20.000

NO.47+11.060 0.7 0.70 7.7
11.060

INEF 28.7
41.060

At 112.9




= Sk
FRIEY /1 = & 3 B &
RPEY (F5) R0 )
;[ OB Wrimfd XM AE Wrimfd  CERWrmd LE =
m2 m2 m3 m2 m2 m3
NO. 0
0.000
NO. 0+3.500 3.500 0.7 0.35 1.2
0.000
NO. 0+11.840 0.7 0.70 5.8
8.340
NO. 1
8.160
NO .2
20.000
NO. 3
20.000
NO. 4
20.000
NO. 4+1.200
1.200
NO. 5
18.800
NO. 6
20.000
NO. 7
20.000
NO. 8
20.000
NO. 8+14.300
14.300
NO. 8+16.200
1.900
NO. 9
3.800
NO.10
20.000
NO.11
20.000
NO.12
20.000
At 7.0




N = Sk
HEREL /5 + & # B &
HEREL(A) HERELE)
R O Wrisfs W Wrimfs CEHWrERE & I
m2 m2 m3 m2 m2 m3
NO. 0
0.000
NO. 0+3.500 3.500 0.2 0.10 0.4
0.000
NO. 0+11.840 0.2 0.20 1.7
8.340
NO. 1 0.10 0.8
8.160
NO .2
20.000
NO. 3
20.000
NO. 4
20.000
NO. 4+1.200
1.200
NO. 5
18.800
NO. 6
20.000
NO. 7
20.000
NO. 8
20.000
NO. 8+14.300
14.300
NO. 8+16.200
1.900
NO. 9
3.800
NO.10
20.000
NO.11
20.000
NO.12
20.000
aEt 2.9




ST RREE

2NN 2N 2! 215 X4y Wi
\
T 1) M1 HRE Y& W &
FAEYARA RC-40 1467. 46 1470 | m2
HE T EAE T
~ : t=10cm
. ZAKME 300%300 359. 69 360 | m2
N A=
t=6cm
R FHKME 100%100 1151. 47 1151 | m2
SR T a s
t=6cm
m
e s R 148. 87 149
HET oy Bk T w 300%300%60 -
. 32. 40 32 | m
R T a v s 300%300%60
54. 38 54 | m2




N

AE TR

AT SRR T ay s HET oy
RC-40 t=10cm BHAME t=6cm FHET oy | SRkTay s kS

(m2) 300%300  100%100 | 300%300(m) | 300%300(m)

43.66 35.45 1.26 14.75 8.40
R1-1

13.52 10.43 1.62 4,90 0.00
R1-2

101.35 78.40 11.10 34.70 4.80
R1-3
. 158.53 124.28 13.98 54.35 13.20
/NEE

26.34 19.92 2.80 7.25 4.80
R2-1

8.90 6.14 1.90 2.87 0.00
R2-2

16.90 10.64 4.76 5.00 0.00
R2-3

22.06 12.94 7.30 6.08 0.00
R2-4

9.82 5.56 3.47 2.62 0.00
R2-5

122.96 77.35 34.00 33.90 4.80
R2-6
. 206.98 132.55 54.23 57.72 9.60
/NG




AT NI A= HE T ay )
RC-40 t=10cm KM t=6cm FHEToys | SRk ays S
(m2) 300%300  100%100 | 300%300(m) | 300%300(m)
16.84 0.00 18.70 0.00 0.00
R3-1
24.91 0.00 27.74 0.00 0.00
R3-2
32.00 0.00 35.11 0.00 0.00
R3-3
. 73.75 0.00 81.55 0.00 0.00
/NG
15.12 0.00 16.85 0.00 0.00
R4-1
24.78 0.00 27.20 0.00 0.00
R4-2
33.94 0.00 37.13 0.00 0.00
R4-3
R 0.00 0.00 0.00 0.00 0.00 SOHBE fi 135 A
73.84 0.00 81.18 0.00 0.00
ING
- 0.00 0.00 0.00 0.00 0.00 SOHBE fi 135 A
47.99 0.00 53.60 0.00 0.00
R5-2
51.59 31.63 15.37 15.30 0.00
R5-3
72.71 0.00 80.98 0.00 0.00
R5-4




AT SR T v Gt WA=
RC-40 t=10cm KM t=6cm FHET o | R ey s S
(m2) 300%300  100%100 | 300%300(m) | 300%300(m)
79.51 0.00 88.33 0.00 0.00
R5-5
62.18 0.00 68.85 0.00 0.00
R5-6
42.97 0.00 47.40 0.00 0.00
R5-7
S 0.00 0.00 0.00 0.00 0.00 SOH B fi 135 A
| 356.95 31.63  354.53 15.30 0.00
JNE
P61 0.00 0.00 0.00 0.00 0.00 SOHBE fi 135 A
26.86 0.00 29.96 0.00 0.00
R6-2
31.24 0.00 34.99 0.00 0.00
R6-3
50.25 0.00 55.95 0.00 0.00
R6-4
97.56 71.23 17.00 21.50 9.60
R6-5
. 205.91 71.23 137.90 21.50 9.60
/INEE
. 1075.96 359.69  723.37 148.87 32.40
A Et




N

AE TR

PR T SRR T vy HET oy
RC-40 t=10cm BHAME t=6cm FHET oy | kT ey s kS

(m2) 300%300  100%100 | 300%300(m) | 300%300(m)
116.38 0.00  122.08 0.00 0.00

L1-1
35.45 0.00 39.14 0.00 0.00

L1-2
7.79 0.00 8.83 0.00 0.00

L1-3
5.56 0.00 6.12 0.00 0.00

L1-4
. 165.18 0.00  176.17 0.00 0.00

/NG
5.56 0.00 6.12 0.00 0.00

[.2-1
7.37 0.00 8.38 0.00 0.00

[.2-2
10.96 0.00 12.36 0.00 0.00

1.2-3
. 23.89 0.00 26.86 0.00 0.00

/NEE
5.45 0.00 6.00 0.00 0.00

.31
9.48 0.00 10.66 0.00 0.00

.3-2
8.89 0.00 9.74 0.00 0.00

.3-3




AT NI A= HETay s
RC-40 t=10cm KM t=6cm HETays | mikT ey 5
(m2) 300%300  100%100 | 300%300(m) | 300%300(m)
34 0.00 0.00 0.00 0.00 0.00 SO BE fi 15 A
23.82 0.00 26.40 0.00 0.00
/NE
Lo 0.00 0.00 0.00 0.00 0.00 SOH B fi 135 A
30.09 0.00 33.05 0.00 0.00
L.4-2
35.86 0.00 40.01 0.00 0.00
.4-3
58.88 0.00 65.71 0.00 0.00
.44
40.82 0.00 45.37 0.00 0.00
L4-5
12.96 0.00 14.53 0.00 0.00
L4-6
178.61 0.00  198.67 0.00 0.00
/NG
3 391.50 0.00  428.10 0.00 0.00
FEARIET
aat 1467.46 359.69 = 1151.47 148.87 32.40
=R




FHEHET(R1-1) ¥ B
T gl Pl 31l ) = e
‘ B300 35. 45 35.45  m2
ST ey o
t=6cm
B100 1.26 1.26 | m2
t=6cm
H 36. 71 m2
‘ B300 2. 45+5, 60+3. 35%2 14. 75
FET o v
t=6cm
B300 ((9+3+2) *%2) *0. 30 8. 40
MR T vy s
t=6cm
i 23.15 m
E
RC-40 36. 71 + 2315 % 0.30 43.66 | m2
AT

t=10cm




B AR T.(R1-2) ® B B &
T i i | ) = e
) B300 10. 43 10. 43 m2
ST a s
t=6cm
B100 1.62 1.62 m2
t=6cm
7 12. 05 m2
) B300 4.90 4.90
FHET Oy
t=6cm
B300 0. 00 0. 00
Jvy Nl =
t=6cm
) 4.90 m
:
RC—40 12. 05 + 4.90 * 0.30 13.52 m2
A T

t=10cm




B S % T.(R1-3) ¥ E F
T i i ]| B 2V e
) B300 78. 40 78. 40 m2
ST a s
t=6cm
B100 11.10 11.10 m2
t=6cm
7 89. 50 m2
) B300 34.70 34.70
FHET Oy
t=6cm
B300 8%2%0. 30 4. 80
Jv Nl =
t=6cm
) 39. 50 m
=
RC—40 89. 50 + 39.50 * 0.30 101. 35 m2
A T

t=10cm




L=-]

BP

“0+0. 000R

R1-N1

HIERAT

| =17. 50m
A=48. 2m2

R1I-3%E T

R1-2#8I

BEI R

Sk

RI-1$BEHEEX

T 70y 7 (B300) [42

4-(14 75%0 30+28*0.30%0. 30) =35 45m2

FHIOw 2(B100) (1.2

6m2

BB IOy (B30O) [(2

4545 60+3 35%2)=14.75nm

ARk 70w 7 (B300)

(9+3+2)*2=2848

R1I-2FEEE &

Fik 70O w2 (B300) |11

9-(4.90%0.30)=10.43m2

T/ IOu 2 (B100) 1.

62m2

B5 7oy 2 (B300) |4

90m

Ak 70w 2 (B300)

RI-3$EEHEX

90. 24-(34. 7%0. 30+16%0. 30%0. 30)=78. 4m2

Fim 70w 7 (B3O
FiHIOw 2 (B100) [11.1m2
ZEE ooy 7 (B300) [34. Tm

RRT0O w7 (B300) [8x2=16{F




B SR T.(R2-1) ¥ E F
T i i | ) = e
) B300 19. 92 19. 92 m2
ST a s
t=6cm
B100 2. 80 2.80 m2
t=6cm
7 22.72 m2
) B300 7.25 7.25
FHET Oy
t=6cm
B300 8%2%0. 30 4. 80
Jv A=
t=6cm
) 12. 05 m
=
RC—40 22.72 + 12.05 * 0.30 26. 34 m2
A T

t=10cm




B S % T.(R2-2) B E B &
T i i ]| ) = e
) B300 6. 14 .14 m2
ST a s
t=6cm
B100 1.90 .90 m2
t=6cm
7 .04 m2
) B300 2. 87 .87
FHET oy
t=6cm
B300 0. 00 .00
Jv A=
t=6cm
) .87 m
2
RC—40 8. 04 2. 87 * 0.30 .90 m2
A T

t=10cm




B S %k T.(R2-3) B E B &
T i i ]| ) = e
) B300 10. 64 10. 64 m2
ST a s
t=6cm
B100 4.76 4.76 m2
t=6cm
7 15. 40 m2
) B300 5. 00 5.00
FHET oy
t=6cm
B300 0. 00 0. 00
Jv A=
t=6cm
) 5.00 m
:
RC—40 15. 40 + 5. 00 * 0.30 16. 90 m2
A T

t=10cm




B S % T.(R2-4) B E B &
T i i ]| ) = e
) B300 12.94 12.94 m2
ST a s
t=6cm
B100 7. 30 7. 30 m2
t=6cm
7 20. 24 m2
) B300 6. 08 6. 08
FHET oy
t=6cm
B300 0. 00 0. 00
Jv A=
t=6cm
) 6. 08 m
:
RC—40 20. 24 + 6. 08 * 0.30 22.06 m2
A T

t=10cm




B &%k T.(R2-5) B E B &
T i i ]| ) = e
) B300 5. 56 5. 56 m2
ST a s
t=6cm
B100 3. 47 3.47 m2
t=6cm
7 9.03 m2
) B300 2.62 2.62
FHET oy
t=6cm
B300 0. 00 0. 00
Jv A=
t=6cm
) 2.62 m
=
RC—40 9.03 2.62 * 0.30 9.82 m2
A T

t=10cm




B EEE T (R2-6) ¥ E F
T i i ]| ) = e
) B300 77.35 77.35 m2
ST ey o
t=6cm
B100 34. 00 34. 00 m2
t=6cm
g 111.35 m2
) B300 33.90 33.90
FET o v
t=6cm
B300 8%2%0. 3 4. 80
Jv Nl =
t=6cm
i 38. 70 m
2
RC-40 111.35 + 38.70 * 0.30 122. 96 m2
A T

t=10cm




ooooboo

x| R2-NH2 C| R2-N5
FIBRAL e

IEIBEEAT =7 508 | R2-6HET

L=7.50m A=28. 2m?

A=, 2n2 R2-55ET

R2-2%8 L R2-4%i8 T

R2-1%38T RI-3ZET
58I R2

R-15EmB %

TR0y (B100)

23.54-(7. 25%0. 30+16%0. 30%0.30)=19.02m2

TR0 w2 (B100)

2. 84m2

FE&709y (B30D)

7.25m

af7ows (B300)

Bx2=16@

RZ-2H5EEB &

TwIA e s (B300)

7.00-(2.87«0.30)=6.14m2

TR0y (B100)

1.94m2

FE® oy y (B300)

2.87m

s Fows (830D

RI-IZERER

FHRTA g (810D

12.14-(5. 0«0, 30)=10. 64m2

TR0y (B100)

4. 76m2

FEInvy (8100

5. 04m

ARFTav s 830D

RI-4F5EEmBE R

T@EmIo0ws (B300)

14.77-(6. 08+0.30)=12. 84n2

TH 70wy (B100)

7.34m2

FE&7ows (B30D)

fi. 38m

AR 70wy (B30D)

R2-5HEmE &

TR0y (B300)

6. 35-(2.62«0. 34)=5.56m2

FR70 w2 (B10D)

3.47m2

F&7ows (B300)

2. 62m

A 7Fows (B300)

RZ-6H5EEmE &

w0y 7 (B300)

88.96-(33. 9«0 30+16%0.30«0.38)=77.35m2

TwmFous (8100

14 4m2

FEFmvy (830D

33.9m

s Fows (8300

Be2=16{8




AEEE T (R3-1) H B2 #H H &
T piil Pl il H 2V e
B100 18. 70 18. 70
N =
t=6cm
RC—40 18.70 - 18.60 * 0.10 16. 84
AR T

t=10cm




AIEFEE T.(R3-2) ¥ B H E E
T il | i = e
B100 27. 74 27. 74
SR T vy s
t=6cm
RC-40 27. 74 - 28.30 * 0.10 24.91
oz T

t=10cm




B EEE T (R3-3) o E H E E
T il i il B = P
B100 35.11 35.11
SR T vy o
t=6cm
RC-40 35.11 - 31.10 * 0.10
A% T

32.00

t=10cm
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AR T.(R4-1) ¥ E H B E
T & & il ) = by
B100 16. 85 16. 85
ST ey o
t=6cm
RC-40 16. 85 - 17.30 * 0.10
AR T

15. 12

t=10cm




HEEE T (R4-2) o E H E E
T il i il B = P
B100 27. 20 27. 20
SR T vy o
t=6cm
RC-40 27. 20 - 24.20 * 0.10
A% T

24.78

t=10cm




B EEE T (R4-3) o E H E E
T il i il B = P
B100 37.13 37.13
SR T vy o
t=6cm
RC-40 37.13 - 31.90 * 0.10
A% T

33. 94

t=10cm




HEHE T (R4-4)

3 2 =2
%( ==
T T T 1l B = o &=
) B300 0.00 0.00 m2
TR m Y s
t=6cm
RC—-40 0.00 0.00 * 0.00 0.00 m2
AT
t=10cm




{NU. 13+/. 0%

14+12. 488 A=90.0

KA1-1
NO.

NO.13+14, 95

Re.

-

i

it

<of i

5l
%Y

By
o
i
<
<
&

58I R4

L

91.30m

NO. 18+6. 25




A EEHEET(R5-1) % & 3

T i T 1l H 2V I &

B300 0. 00 0. 00 m2
AR T 1 s

t=6cm

RC—40 0. 00 0. 00 0. 00 0.00 m2

AR T
t=10cm




AEEREE T.(R5-2) ¥ E H B E
T & & 1] ) = by
B100 53. 60 53. 60
ST ey o
t=6cm
RC-40 53. 60 - 56.10 * 0.10
AR T

47.99

t=10cm




> ) 3 =R St
AIEEZE T (R5-3) B EHE E
T i i il B 2V P
) B300 31.63 31.63
ST a s
t=6cm
B100 15. 37 15. 37
t=6cm
7 47.00
) B300 15. 30 15. 30
FHET Oy
t=6cm
B300 0. 00 0. 00
Jvy A=
t=6cm
) 15. 30
2
RC—40 47. 00 + 15.30 * 0.30 51.59
A T

t=10cm




AIEEREE T.(R5-4) ¥ E H B E
T & & 1] ) = PG
B100 80. 98 80. 98
ST ey o
t=6cm
RC-40 80. 98 - 82.70 * 0.10
PRAR T

72.71

t=10cm




A B EHEE T.(R5-5) 2 #H BE &
T T T il B =V P
B100 88. 33 88. 33
N =
t=6cm
RC-40 88. 33 - 88.20 * 0.10
BT

79.51

t=10cm




ARE EH %% T.(R5-6) ¥ E H B E
T & & 1] ) = PG
B100 68. 85 68. 85
ST ey o
t=6cm
RC-40 68. 85 - 66.74 * 0.10
PRAR T

62. 18

t=10cm




A EEREET.(R5-T) 2 #H BE &
T T T il B =V P
B100 47. 40 47. 40
N =
t=6cm
RC-40 47. 40 - 44,30 * 0.10
BT

42. 97

t=10cm




A B T(R5-8)

3y 2 =2
%( B n
T T T a1l H =V I &=
) B300 0.00 0.00 m2
R T vy s
t=6cm
RC—-40 0.00 0.00 * 0.00 0.00 m2
BT
t=10cm
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R T vy s
t=6cm
RC—-40 6.12 5. 60 * 0.10 5. 56 m2
BT
t=10cm




AEEHET(L2-2) B E F
T i i | H 2V e
B100 8. 38 8. 38 m2
N =
t=6cm
RC—40 8. 38 10. 10 * 0.10 7. 37 m2
A T

t=10cm




AAIEFEEE T.(L2-3) B EHEREE

A B
T T T il B =V P
) B100 12. 36 12. 36
R T vy s
t=6cm
RC—-40 12. 36 - 14.00 * 0.10 10. 96
BT

t=10cm




i
(o
5
EE
-

|

=\ A
1\ \
S\ =
A\,
;iﬁ
=i\
o
-
—
[
O\
—
r‘
~
\
-
<
‘J
=2
‘_,- 7 G,
~ =
*®\ o =
o\ -
w ’
=\
2| \A
el
)
—
o
o
-

w1
L'l’ga?l%ml W’\Qm
7.

A=90.0

= 2 -



AEEET(L3-1) # 7
T T T 1l H =V I &=
B100 6. 00 6. 00 m2
A=

t=6cm
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RI-N1 42.95 42.95 5.52 17.80
RI-N2 9.80 9.80 5.52 4.30
RI-N1 10.80 10.80 6.00 4.30
RI-N2 21.95 21.95 6.45 7.80
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R9-N4 13.80 13.80 7.47 4.30
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> 2 = st
(10.0m34Y) 2 =2 H B &
Hmi TS B =X 0 B
RC-40 t=10cm |0. 50%0. 10%*10. 0 0.5 m3
US9-B-B300— [10.0/2.0 5 "
H i AEARE |H1400
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B s b
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US9-B-B300-H300 300 300 450 350 4% 85 400 500
US9-B-B300-H400 300 40 450 450 53 85 400 500
US9-B-B300-H500 300 500 450 550 635 85 400 500
US9-B-B300-H600 300 600 450 650 1% 85 42 520
US9-B-B300-H700 300 700 450 750 83 85 420 520
US9-B-B400-H400 400 40 550 450 545 % 500 600
US9-B-B400-H500 400 500 550 550 645 95 500 600
US9-B-B400-H600 400 600 550 650 745 95 520 620
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HBERAT o240 t=10em (0. 05670 747y %0, T0%10 0.8 m3
(0. 050+0. 747) *10 8.0 m2
T .
ELZL 13 IR 0.2
m3
LS3-1-h 200~ [0=2.0m
T200 w=790kg/{# [5 5
BELD
17.00 720.00 10.00
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8
($58) g & 8% (£8)
%
AR PSS
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a #gELANL (1:3)
LERE
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R ﬁéh//i 7y
RC-40 t=15cm
syt S INERLHE Y 1) (0. 80%0. 80%0. 65-0. 50%0. 50%0. 50) *10 2.91 m3
18-8-40
(0. 65%0. 80%4+0. 50%0. 50%4) *10 30.80 m?2
U e /N E )
10 e
S 500%500
T-14
_ 1. 8072%0. 65+0. 90" 2%0. 15 TICE k- 2.2 3
EEEFEV) %%ﬁ]’%:lgom ( ) j: a u+ m
FRIEE=0. 65m
(1. 8072%0. 65-0. 80~ 2%0. 65) + T3 |k 1.7 m3
WERL
0. 90%0. 90*10 8.1 m2
FLiH e
2.2 - 1.7 / 0.9 +TIcE |k 0.4 m3
7 ALEE
£ 7k i
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i T o FEP ¢ 50
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W — b W15021% &
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Fi FiEe V5. 5sq
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S LW3703LC




TETIRAT - LR HE R

pre Py PR AT 28 L HRET il
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9. 20~ (1. 00%1. 00%0. 10+1. 00%1. 00%1. 00) 8.10 i m3
HWEL
1. 00%1. 00 1.00 i m2
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	数量計算書

	数量総括標

	道路土工

	歩道工

	乗入工

	排水工

	道路付属施設工

	植栽枡工

	安全費


